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This carbon has 5 BONDS!
Need to have a second arrow
to avoid this

The negative charge has to
end up somewhere on the
contributing structure.
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This is not a chiral carbon (there are
two methyl groups attached to this
carbon.

If you have SN1/E1,
then you should have
the elimination product!
Even if you are assuming
the rearranged product.
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PBr3 will invert the
stereochemistry at
this carbon
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You will get a mixture of products
in this reaction (both enantiomers)
therefore, you cannot only choose
one enantiomer to move on in
this synthesis.
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